
SAP ABAP table REAJC_INDEX_CONVERSION {Index - Base Year Change (TIVAJINDXCONV)}

REAJC_INDEX_CONVERSION

SERIESTO [CHAR (5)]

BASEYEARTO [NUMC (4)]

SERIESFROM [CHAR (5)]

BASEYEARFROM [NUMC (4)]

T094A

MANDT [CLNT (3)]

WBIND [CHAR (5)]

 REAJC_INDEX_CONVERSION-SERIESFROM = T094A-WBIND 
0..N

1  REAJC_INDEX_CONVERSION-SERIESTO = T094A-WBIND 0..N

1

T094B

MANDT [CLNT (3)]

WBIND [CHAR (5)]

YBASISJ [NUMC (4)]

 REAJC_INDEX_CONVERSION-BASEYEARFROM = T094B-YBASISJ 

0..N

1

 REAJC_INDEX_CONVERSION-BASEYEARTO = T094B-YBASISJ 
0..N

1


